INOX

Stainless
Steel

LV.F-80-SST
LV.F-80-AS-SST

ELESA J& &% it

WH %% KT EH

- WA WERBREEPAGRERAEMREE, THEM., ALk,
fig DA R H b 2 A,

- Batks, AT,

- AISI304 T 4 47 3 48 77 S AU AT

- LVIFEL, A7 B i A 09 AT B4

- LV.F-ASH . #NBR#KTOY K ZAR A FH &4, S di,
BrROEBRGESRERGRTEREY, WEASAR RS, RF
EARALEHTEEFRAT, REPEAEL,

- A 2180° By Hb 1 2 3% L,

- AISI304 T 40 BB (E AT, £ ILE5127),

FRBITWEEMEAM, ZLE2R KA,

KFREFENTICRERZA T ERPFHAFE, ZERERI R
e BTl REEAN, KPP, TUH R, REMERAZ W,

AFREETOEEHBVERE, EEAWHRENACTHEES, &F
eGSR enReEl, ARG FE, EAFRATFHENKT
i Zwmi,

ALTELE R AR AR LR A LA LA R R AR AR A N

__f..,...,._.,..,,__.ﬁ.__......,,?.,,..,,....,,.,
LT

IR h'ﬁ}?ﬂ'l'tﬁi'ﬂ

f

\

FAISI304T 740 fn Loy & & # P, T A5 E(XT0.030%) &%
REREFFAECEAT RS, CTRERAG T ol ga, U
BHEIA, SEEIFAFHAEFEHER, AERTERMHE T,

& B4R 7R

1155 R F

0~ |

e
770 7T

v | /¥ | BHPT | ==

& d
331121 | LVF-80-14-SST-M8x43 | 334121| LVF-80-14-AS-SST-M8x43 7 79 M8 43 X 86 112
331125 | LVF-80-14-SST-M8x68 | 334125| LVF-80-14-AS-SST-M8x68 |80 101 104 33 | M8 68 14 14 16000 08 124
331221 | LVF-80-14-SST-M10x43 | 334221 | LVF-80-14-AS-SST-M10x43 76 79 M10 43 95 121
331225 | LVF-80-14-SST-M10x68 | 334225| LVF-80-14-AS-SSTM10x68 |80 101 104 33 | M10 68 14 14 16000 108 134
331231 | LVF-80-14-SST-M10x98 | 334231 | LVF-80-14-AS-SST-M10x98 131 134 M10 98 122 148
331321 | LVF-80-14-SST-M12x43 | 334321 | LVF-80-14-AS-SST-M12x43 76 79 M12 43 105 131
331325 | LVF-80-14-SST-M12x68 | 334325| LVF-80-14-AS-SSTM12x68 |80 101 104 33 | M12 68 14 14 16000 123 149
331331 | LVF-80-14-SST-M12x98 | 334331 | LVF-80-14-AS-SST-M12x98 131 134 M12 98 145 171
331521 | LVF-80-14-SST-M16x68 | 334521 | LVF-80-14-AS-SST-M16x68 101 104 M16 68 168 194
331525 | LVF-80-14-SST-M16x108| 334525 | LV F-80-14-AS-SST-M16x108 141 144 M16 108 222 248
331541 | LVF-80-14-SST-M16x148| 334541 | LVF-80-14-AS-SSTM16x148 |80 181 184 33 | M16 148 14 16 16000 275 301
331561 | LVF-80-14-SST-M16x168| 334561 | LV F-80-14-AS-SST-M16x168 201 204 M16 168 302 328
331621 | LVF-80-24-SST-M16x58 | 334621 | LV F-80-24-AS-SST-M16x58 101 104 M16 58 230 256
331625 | LVF-80-24-SST-M16x98 | 334625| LV F-80-24-AS-SST-M16x98 141 144 M16 98 282 308
331641 | LVF-80-24-SST-M16x138| 334641 | LVF-80-24-AS-SSTM16x138 |80 181 184 43 | M16 138 24 24 18000 333 359
331661 | LVF-80-24-SST-M16x158| 334661 | LV F-80-24-AS-SST-M16x158 201 204 M16 158 361 387
331725 | LVF-80-24-SST-M20x98 | 334725| LVF-80-24-AS-SST-M20x98 141 144 M20 98 354 380
331741 | LVF-80-24-SST-M20x138| 334741 | LV F-80-24-AS-SST-M20x138 181 184 M20 138 434 460
331761 | LVF-80-24-SST-M20x158| 334761 | LVF-80-24-AS-SST-M20x158 |80 201 204 43 | M20 158 24 24 18000 474 500
331781 | LVF-80-24-SST-M20x198| 334781 | LV F-80-24-AS-SST-M20x198 241 244 M20 198 559 585
331825 | LVF-80-24-SST-M24x98 | 334825| LVF-80-24-AS-SST-M24x98 141 144 M24 98 454 480
331861 | LVF-80-24-SST-M24x158| 334861 | LVF-80-24-AS-SST-M24x158 |80 201 204 43 | M24 158 24 24 18000 629 655
331881 | LVF-80-24-SST-M24x198| 334881 | LVF-80-24-AS-SST-M24x198 241 244 M24 198 750 776

*“%ﬁ%&ﬁ%"%ﬁ&ﬁ%ﬁm%ﬂ%,ﬁmﬁﬁﬁﬁiﬂﬁ%ﬁ.ﬂ%%mﬂﬁﬂ%%ﬁa
#h TR T R AE,

“‘ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘elesa-BANTIR)




